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In each questions, two sentences are given and followed 

by four connectors, find out the appropriate connector 

that can join the two sentences without altering the 

original meaning.
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I was ill. I attended the meeting.

I) Although

II) Moreover

III) Since

1. Only III

2. Only I

3. II and III

4. I and II

5. None of these
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Anil was a doctor. He could not save her injured sister.

I) In spite of

II) As

III) Moreover

1. I and III

2. Only I

3. II and III

4. I and II

5. None of these
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US policy-makers broadly understand this. It has not 

translated to action on the ground.

I) Since

II) While

III) Therefore

1. I and III

2. Only I

3. II and III

4. Only II

5. None of these
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In each question, the word at the top is used in three 

different ways. Choose the option in which the usage 

of the word is CORRECT or APPROPRIATE.
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EXTRANEOUS

A. Bigotry is extraneous to the basic tenets of Hinduism.

B. He is saving money as the car he wants to buy is 

extraneous .

C. The progress of a country depends on the extraneous 

concept of equality.

1. Both A & B

2. Only A

3. Both B & C

4. All of these

5. None of these
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FRAUGHT

A. Marketing any new product is fraught with danger.

B. Security problem on our borders is fraught with danger.

C. No good citizen will fraught the rules of the road.

1. Both A & B

2. Only A

3. Both B & C

4. All of these

5. None of these
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LOATH

A. The rich should not loath the poor

B. Pollution is increasing day by day, but it seems that the 

government is loath to implement stringent rules to prevent it.

C. She was loath to go with him alone

1. Both A & B

2. Only A

3. Both B & C

4. All of these

5. None of these
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ORDNANCE

A. There is an ordnance factory in Kanpur.

B. The government has issued an ordnance against the people 

who do not pay taxes on time.

C. An ordnance should be issued against the people who do 

not maintain social distance and avoid mask.

1. Both A & B

2. Only A

3. Both B & C

4. All of these

5. None of these
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CONFIDANT

A. I am confidant of her success because she is hard working 

and intelligent.

B. We should always be confidant of our success in life.

C. The princess shares all the secrets with him because he is a 

confidant of the princess.

1. Both A & B

2. Only C

3. Both B & C

4. All of these

5. None of these
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The following sentences are divided into four parts A, B, 

C and D. The parts may or may not be grammatically 

correct. Find the part that has the grammatical error. If 

the sentence is correct, mark “no error” as your answer
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A working group at capital markets regulator Sebi (A)/have 

brought out a welcome report on the social stock exchange 

(SSE),(B)/ a platform for fundraising for social enterprises, 

(C)/ and measuring and reporting social impact.(D)/

1. A

2. B

3. C

4. D

5. No error.
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For NPOs, zero-coupon, zero-principal bonds (A)/ are also 

proposed, for investors who are (B)/ interested in social 

impact and do not (C)/ wished to have the funds returned to 

them.(D)/

1. A

2. B

3. C

4. D

5. No error.
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The incentive structure of senior bankers should be 

overhaul(A)/ to reward performance, with a large slice of 

their remuneration (B)/ linked to long-term performance 

(C)/ of the bank and subject to clawback.(D)/

1. A

2. B

3. C

4. D

5. No error.

PRACTICE SET -8



The truth is, if the government really wanted,(A)/ child 

labour in hazardous industries could have being (B)/ 

eliminated long time ago; and yes, every Indian (C)/ child 

would have been in school by 2003.(D)/

1. A

2. B

3. C

4. D

5. No error.
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THANK 
YOU
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